Area Measurement Quiz

Name: ___________________________ 

Block: ________________________
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Find the surface area of this cone. Include the surface area of the base of the cone. Round to 1 decimal place.
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	a.
	21519.9 cm2
	c.
	1162.4 cm2

	b.
	879.6 cm2
	d.
	1099.6 cm2


____
2.
A square-based pyramid has a base length of 10 feet, a height of 45 inches, and a slant length of 3 yards. What is the surface area, including the base?

	a.
	175 ft2
	c.
	280 ft2

	b.
	337.5 ft2
	d.
	200 ft2


 ____
3. Find the shaded area of the shape.
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	a.
	48m2
	c.
	28m2

	b.
	41.25m2
	d.
	19.5m2


Out of the following five questions pick ANY THREE to answer. Sketch a diagram and show your thinking.
1. Zoë is painting a mural on one wall measuring 16' in length and 8' in height. There is one door measuring 30" by 7' on the wall. What is the surface area to be painted?

2. Dylan has a field in the shape of a trapezoid for which he needs to buy a fertilizer.
a) What is the area of the field in square meters?

b) Each truckload of fertilizer costs $52.14 and covers 10,000m2. How much will it cost to cover the field?


0.5km


0.8km
3. Horatio is wallpapering his room. His room measure 5 m long by 4.75 m wide by 3.25 m high. There are two windows that measure 1 m by 0.75 m and a door that is 1.3 m by 2.75 m, each of which do not require wallpaper. How much wallpaper is needed for Horatio’s room?

4. Shingles cost $26.99/yd2. How much will it cost to shingle a conical roof with a diameter of 6.4 yd and a slant height of 4.48 yd?

5. A garden measures 14 yd by 10 yd. In order to grow well, vegetables need about 0.8 m2 of space each. How many plants can you expect to grow in the garden?



Bonus Question


Determine the surface area of this composite object, which is a right cylinder and a hemisphere, to the nearest tenth of a square meter.
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AreaQuiz

Answer Section
MULTIPLE CHOICE

1.
ANS:
C
PTS:
1
DIF:
Moderate
REF:
3.3

OBJ:
Measurement | Algebra
LOC:
M-SO4 | A-SO1


TOP:
Surface Area


KEY:
Surface Area



2.
ANS:
C
PTS:
1
DIF:
Moderate
REF:
3.3

OBJ:
Measurement | Algebra
LOC:
M-SO4 | A-SO1


TOP:
Surface Area


KEY:
Surface Area



3.
ANS:
B
PTS:
1
DIF:
Easy
REF:
3.3

OBJ:
Measurement | Algebra
LOC:
M-SO4 | A-SO1


TOP:
Surface Area


KEY:
Surface Area



4.
ANS:
D
PTS:
1
DIF:
Easy


REF:
1.7 Solving Problems Involving Objects

LOC:
10.M3

TOP:
Measurement


KEY:
Procedural Knowledge
SHORT ANSWER

5.
ANS:


1885 cm2
PTS:
1
DIF:
Difficult
REF:
1.7 Solving Problems Involving Objects

LOC:
10.M3
TOP:
Measurement


KEY:
Procedural Knowledge

6.
ANS:


Calculate the surface area of the walls, ignoring the windows.

There are 2 walls that are 5 m long by 3.25 m high.
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There are 2 walls that are 4.75 m wide by 3.25 m high.
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Calculate the area that will not be wallpapered.
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There are 2 windows that are  1 m by 0.75 m.
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Calculate the total area to be wallpapered.
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The total area to be wallpapered is 58.3 m2.
PTS:
1
DIF:
Moderate
REF:
3.3
OBJ:
Measurement | Algebra

LOC:
M-SO4 | M-SO1

TOP:
Surface Area



KEY:
Surface Area



7.
ANS:


A Christmas tree is roughly a cone. Calculate the surface area of the cone, not including the bottom.
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37 ft2 of material will be needed to make one tree cover.
PTS:
1
DIF:
Moderate
REF:
3.3
OBJ:
Measurement | Algebra

LOC:
M-SO4 | A-SO1

TOP:
Surface Area



KEY:
Surface Area



8.
ANS:


Calculate the surface area of the roof.
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Calculate the cost to shingle the roof.
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It will cost $1214.96 to shingle the roof.
PTS:
1
DIF:
Easy
REF:
3.3
OBJ:
Measurement | Algebra

LOC:
M-SO4 | A-SO1

TOP:
Surface Area



KEY:
Surface Area



9.
ANS:


Convert the dimensions of the garden to metres.

1 yd = 0.9144 m

Length:
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Width:
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Calculate the area of garden.
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Divide the area by the space needed per plant. 
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You can grow about 146 vegetables in the garden.
PTS:
1
DIF:
Moderate
REF:
3.3
OBJ:
Measurement | Algebra

LOC:
M-SO2 | M-SO4 | A-SO1
TOP:
Surface Area



KEY:
Surface Area






0.6km








